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BACHELOR OF SCIENCE  

(LIFE SCIENCES) (B. Sc.) 

Term-End Examination 

December, 2023 

LSE-05 : ANIMAL PHYSIOLOGY AND  

PLANT PHYSIOLOGY  

Time : 2 Hours     Maximum Marks : 50 

Note : Use separate answer sheets for Part I and 

Part II. Be brief and precise in your answers. 

Draw neat and labelled diagrams wherever 

necessary.   

 Part—I (Marks : 25) 

(Animal Physiology) 

Note : Attempt five questions in all. Question No. 1 

is compulsory.  

1. (a) Differentiate between the following : 2×1=2 

(i) Osmoregulators and Osmoconformers 

(ii) Tidal volume and Residual volume 
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(b) Match the items given in Column A with 

those in Column B :  3×1=3 

  Column A Column B 

(i) Insulin (A) Neurotransmitter 

(ii) Epinephrine (B) Maintenance of 

uterine endometrium 

(iii) Progesterone (C) Decreases blood 

glucose 

2. (a) Discuss the characteristics of intracellular 

and extracellular digestion. 2 

(b) List three major classes of digestive 

enzymes. Give one example of each class of 

digestive enzyme. 3 

3. With the help of a well labelled diagram, 

describe muscle contraction mechanism. 5 

4. Describe temperature regulation by heat 

production and heat loss in homeotherms. 5 

5. Discuss the role of hemoglobin in transport of 

oxygen.   5 
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6. Write notes on any two of the following : 2
1

2
×2=5 

(a) All or none response 

(b) Synapse 

(c) Neuroglia 

(d) Male accessory sex organs 

7. List the excretory organs of invertebrates. 

Write short notes on any two of the listed 

excretory organs. 5 

8. Explain the haemostatic (clotting) mechanism.  

5 
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 Part—II (Marks : 25) 

(Plant Physiology) 

Note : Question No. 9 is compulsory. Attempt any 

four questions from Question Nos.  

10 to 14. 

9. (a) Fill in the blanks in the following 

statements :  2×1=2 

(i) In C4-pathway, the CO2-acceptor 

molecule is ................... . 

(ii) Russian Botanist Chailakhyan 

proposed the concept of ................. . 

(b) Choose the correct alternative from the 

words given within the brackets : 2×
1

2
=1 

(i) A plant that requires light duration 

less than the critical period for its 

flowering is called (Long-day-

plant/Short-day-plant). 

(ii) (Xylem vessels/Sieve-tubes) are 

conduits for long-distance metabolite 

transport in trees. 
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(c) Define any two of the following : 2×1=2 

(i) Action spectrum 

(ii) Totipotency 

(iii) Denitrification 

10. (a) Name any four plant growth hormones and 

list physiological functions of any one of 

them.  1+2 

(b) List the applications of plant hormones in 

agriculture and horticulture. 2 

11. Discuss the Munch Pressure Flow Model of 

phloem transport. 5 

12. Discuss the mechanism of opening and closing 

of stomata.  5 

13. (a) Depict Z-scheme of light reaction with the 

help of a well-labelled diagram. 3 

(b) What are micronutrients ? List any four of 

the micronutrients. 1+1 

14. Write notes on any two of the following : 2×2
1

2
=5 

(a) Photorespiration 

(b) Osmotic Pressure 

(c) Day-Neutral Plants 
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A B

3×1=3

A B

(i) (A) ª

(ii) (B) ª

(iii) (C) 
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2
1

2
×2=5 
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II (  

2×1=2

(i) C4 ] CO2

(ii)

×
1

2
=1

 (i)  

]
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 (ii)  

 

2×1=2

 (i) ª  

 (ii)

 (iii) ª
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